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(06 Marks)

(06 Marks)
(08 Marks)
(06 Marks)
(06 Marks)
) (08 Marks)
' Module—2 i S

Using Maclaurin’s series, prove that ) o~

V1+sin2x =14+x-X / 2‘—x /3+x* /4 e p (06 Marks)
lim x li - 5
Evaluate: i) O,(tanxj ii) mo (07 Marks)
x —> 0% x X >

! (07 Marks)
U= f(x Y,y —2,Z2— x) showthat Q[l+gg+aU 0. (06 Marks)
0x ay 0z
Ifu X €OSy €0SZ, V = X cosy sinz, w=X smy, then show that %((u—’l’—vl))— —x’cosy.
X,Y,Z
' i (07 Marks)
Fmd the Volume of the largest rectangular parallelopiped that can be inscribed in the
T
Elhpsmd -)-(—-I—Z +Z— =1. e (07 Marks)
2
Module-3
. cba
- Evaluate ‘H I(x +y° ¥ z )dzdydx (06 Marks)
c—b--a
; Fmd the volume of the sohd bounded by the planes x =0,y =0,z=0,x+y+2z= 1
(07 Marks)
Show, that B(m n) (07 Marks)

m+n

T
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OR
Change the order of Integration and hence evaluate
42 2vax

_[ J xy dy dx (06 Marks) - " ‘.f;
0 x%/4a r i
Find the centre of gravity of the curve r=a(l + Q@s(-) ; (07 Marks)
n/2 n/2
de
Prove that sin®do - =7 & (07 Marks)
'([ 6[ Vsin 6 £

Moduﬁe-
A body in air at 25°C cools from- 10@“@ to 75°C in 1 mmute Fmd the temperaturc of the

body at the end of 3 minutes. (06 Marks)
Find the orthogonal trajectoqea ithe family of cardloldes = a(l + cos0) (07 Marks)-
Solve: [4x3y + ycos(xy)]dx + [ZX v+ xcos(xy)ldy =0 (07 Marks)

OR

A series circuit with re; stance R, inductance L andE éie’ctromotive force E is governed by the

differential equation L% +Ri=E, where L and R are constants and initially the current i is

A

£

zero. Find the cun‘ent at any time t. L™ 06 Marks) _

Solve : x? g— x’y =—y* cosx (07 Mérks)
xdx s .
Solv‘ef‘”f'xzp2 +xp—(y* +y) =0, where p = -SX . S (07 Marks)
Module-5
-3 -1
3 —hH.- . e )
1 by applying elgmf;‘mary row operations.

© (06 Marks)
ding Eigen vector of the matrix

i,
i

: (07 Marks)
ethod to solve the system of equations:
J2x+y—z=04, x+ty+z=9. (07 Marks) -
o, : ~" OR
Test for consistency and solve: . :
5x1+x2 +3x3=20,2x; + 5X2 +2x3=18,3x; +2x; + x3=14 (06 Marks)
13

Reduce the matrix A = [2 ¥ 4} to the diagonal form. (07 Marks) -
Solve the system of equatlons
X+2y+3z= 20 .
Using Gauss- -Siedel method [carry out 4 iterations]. (07 Marks):

% %k %k %k k

20f2
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